Chapter: Chapter 1: Introducing Environmental Science and Sustainability

Multiple Choice

1. Use the I=PAT equation to calculate the environmental impact of in terms of CO2 emissions per year at the beginning of the 21st Century, when there were 6 billion people, an average of 0.1 motor vehicles per person, and 5.4 tons of CO2 emitted by each car per year. 

a) 3.24 trillion tons of carbon

b) 6.48 billion tons of carbon

c) 3.24 billion tons of carbon

d) 16.1 billion tons of carbon

2. According to the UN, 28% of the world’s human population is living in poverty. Using the 1999 population estimate of 6 billion, calculate how many individuals are living in poverty.

a) 21 million

b) 168 million

c) 1.7 billion

d) 4.7 billion

3. Use the figure below to calculate how long it took for Earth's population to double from 3 to 6 billion.
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a) 10 years

b) 20 years

c) 30 years

d) 40 years

4. Use the figure below to identify the year in which almost 100% of the phosphorus in Lake Washington was attributed to sewage effluent
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a) 1966

b) 1963

c) 1960

d) 1959

5. Assuming that Earth's human population is approximately 6.6 billion people in June, 2007, according to the UN what percentage subsist  on less than $2US (adjusted for purchasing power) per day?

a) 47%

b) 53%

c) 61%

d) 77%

